TEEREEEE 2 1 FICE D KEOBERRICET HEHROLRK

(SH6ETALR)
<ZHBEDOERBEE>
R1EE R2ERE RIFEE RAFERE ROEE R6EE
=7 100. 0% 50. 0% 25. 0% 75. 0% 71. 4% 66. 7%
<EBBDLZHEE>
R1EE R2EE RIFEE RAEE RSE & R64E &
214 48. 6% 47.3% 47. 6% 47. 2% 48. 7% 48. 6%
< EHED KR >
RIZEE | R2ZZE | RIEE | RAZEE | ROEE | R6EE
ERBBEE 190 20N 21N 17A 17N 18 A
Sb&E 5N 6N TA 6N 6N TA
THEDOEE 26. 3% 30. 0% 33.3% 35. 3% 35.3% 38. 9%
<iBBENFEDKRT >
RIZEE | R2ZZEE | RIEE | RAEE | ROEE
B EHEFR/ A 8.9h 7.1h 9.7h 8.4h 6.7h
< ERBHRABEIVEHR R >
RIEE R2%E R3EE RAEE RSEE
THEREEH 9.6H8 9.1 10.08 10.3H 12.18
<BtoEEEHERRREGE>
RIZE | R2ZE | R3EE | RAEE | ROEE
MENREH 5A 6N 4N 3A 3N
REEH 4N 6N PN 2N 2N
mEE 80% 100% 100% 67% 67%
<BHEOFRAERMGE>
RIZE | R2ZE | R3EE | RAEE | ROEE
MENREH 5A 6N 4N PN 3N
REBEH (IPN (1PN 1A (1PN 1A
mEE 0% 0% 25% 0% 33%
<THDOBFRAERGE>
RIZE | R2ZE | R3EE | RAEE | ROEE
MENREH 3A 4N YN 1A 5N
REBEH KPN PN 2N 1A 5N
BB %z 1NN0L 1NN0L 1NN0L 1NN0L 1NN0L




HX ST == [RVAVi] [RVAVT] [RVAVRT] [RV2VoT] [RVAVIT]




